[ ERIEXY 1965 4F [2] ]
PAS W

SR Crax+b=0 O 3MREa, B,y L, t=a"+B"+)" LB LE, at,+bt, %

a, bcFEH,
PAq A¢

i B OBRLY a+f+y=0, af+pfr+ya=a, affly=-b

LoT &+ +y =(a+B+y) =2(af+ By +ya) =-2a

Z2C, ax’+bx* = (x* + ax+b)(ax? +bx) —a’x® — 2abx* —b?x
= (x* +ax+b)(ax® +bx) —a*(x® + ax +b) + a’x + a’h — 2abx* —b*x
= (x* + ax+b)(ax® + bx) —a®*(x® + ax +b) — 2abx® + (a* —b*)x +a’b

LB END

aa’ +ba’ = -2aba’ +(a® -b*)a +a’b

af’ +bp* =-2abp? +(a’ -b*) S +a’b

ay® +by* =-2aby® +(a® -b*)y +a’b

LT aty+bt, =a(@® + f+7°)+b(a’ + B+ %)

=2ab(a’+ >+ y*)+ (@ -b*)(a+ B +y)+3a’h
=4a’h+3a’b

=7a’%b



